Lesson 7 - Quiz Questions

4 N
V Balanced Hands with Stayman
responses

1 What do you bid as dealer with these hands?

a)e AJ97 b) s AQ98 C) # AQ65 d ~ Q654
v K75 v 97 v 87 v AK
*2 ¢ KJ54 ¢ AK78 ¢ KT876
& AJ843 & A82 & Q96 & Q4

e)s 1976 f)a T97 g) & AKQT9
v 843 v AQ v 87
¢ AK ¢ AK954 ¢ Q86
s AJ84 & 987 & QJ9

2 Your partner had opened 1 NT. Your RHO (right hand opponent) passes.
What do you respond with these hands?

a)s 9854 b)a J6 c) 4KQ82 d & AQ43
v K75 v AJ97 v AQ84 v K6
.2 ¢ Q84 2 ¢ Q873
& AJ843 & AJT3 & T976 ® 172

e)a Qla f) s K2 g) aAQT9432
v A72 v A84 v
¢ A864 ¢ A952 ¢ A87
& T95 & QT65 & K87
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Assuming that your partner opened with 1 NT, you responded 24
(Stayman). What do the following bids from partner mean?

2¢
2v
24

What does the term Conventional bid mean?

The bidding has gone as follows (1NT is from Opener your partner) You,

as responder bid 2&. Opener rebids 2¥. What is your rebid holding the hands

below?
1NT Pass 24 Pass
2v Pass ?
a)e AQ72 b)a AQ43 c) aAQ72 d aAQ43
¥ KJ53 ¢vT vKJ53 vT
¢ A652 ¢ AK863 ¢ JT52 ¢ A873
& 3 & T75 & 3 & Q975
6. The bidding has gone as follows (1NT from you Opener) What is

Opener’s third bid holding hands a) and b) below?

a)

Opene
a)

INT-P-2&-P b) INT-P-2&-P
2v - P-3v -P 2a - P-2NT -P
? ?
r's hands
AKS83 b) A AQ43
v AQ82 vK3
¢ 93 ¢ Q95
& AJ52 &% JT75
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7 The bidding goes as follows (INT from you). What is your next bid?

INT Pass 24 Pass
2v Pass 3NT Pass
?

a) A K836 b) & AQ4
v AQ82 ¥ K975
¢ 93 ¢ Q9
& A75 &% A75

8 What do you, Responder bid with the following hands if the opponent’s
make the intervening bid shown below?

INT - 24 (Opponents bid) - ?

a) A K832 b) aAA
v AQ82 v KQT984
¢ 9 ¢ AQ95
& 9863 & JT75
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